#H1ERAREK

SPEB TR BREH W OB | B @ | BEEX =
HREH MERE/EEANE/ 2 BEEANE/RIFE L
BAEEEE  HR10A HA35HUT) fE£B 20005
EAEARE HETLE
R T Hh, Hufig T AR 1.000 +0. 100
RS T, Ml B TIELD 1.000 +0.000
INET 2. 000 =1 +0. 050| (1. 000 x 0. 100+1. 000 x 0. 000) .~ 2. 000=0. 050
aft 1.050| (1. 0+0. 050) =1. 050
EEEN AR ERAE/ S BEERNE/BRGE L KARAS
BAEELE  HH205 (HA8 0AUT) fE%E : 5000
EESHE MEELE
itz F b, MR T AR 2.000 +0. 100
itz i, MRz ERATARR 3.000 +0. 000
NG 5.000 +0. 040| (2. 000 x 0. 100+3. 000 x 0. 000) .~ 5. 000=0. 040
ant 1.040( (1. 0+0. 040) =1. 040
EE@A  NEXB/ERANE/ I REEANE/ BREL AXRRE
BEEE  HFA35R FA170ALT) fE£E : 10,000
EAEABE HETEE
WRT i, ol TEE 4.000 +0.100
RS T b, ol ERTIALD 6. 000 +0.000
INET 10. 000 +0. 040| (4. 000 x 0. 100+6. 000 x 0. 000) .~ 10. 000=0. 040
aft 1.040| (1. 0+0. 040) =1. 040
IR ERE/SUE/ S E




#H1ERAREK

SR EIREH % B B FHIEER & =
BEMEEE  RAIE S=1/500 0. 1KmZEHY {E% = : 0. 050K
miuAE (EXREMIER H29)
A EEEEMESH Y 0.050 Kri 0.640] (718.95x0.050 + 28.105).100=0. 641
INET 0.050 Km 0. 640 | {FEEMERE
miuAE MR - i TR
#ER:1/500, #iE RS, igh: s B 0.020] Kmi +0. 700
#aR:1/500, #E R 3h, uish: ERTAARR 0. 030 Kmi +0. 200
INEE 0. 050 K +0.400] (0. 020 x 0. 700+0. 030 x 0. 200) .~ 0. 050=0. 400
aFt 1. 400] (1. 0+0. 400) =1. 400
KIEEEMERM 0.64
fERIER MEXHB/BRUIE/FHMEE
HEEEE  1knEY {E%= : 0. 500Km
BRAE MK HEE
Hiftz T b, HhFZ THETMER 0.200 Km +0. 400
R F  Hb, HufsEBTIARE 0. 300 Km +0. 200
INEE 0. 500 Km +0. 2801 (0. 200 x 0. 400+0. 300 x 0. 200) .~ 0.500=0. 280
BHRAE XBEXELE
RBE1,000~3, 0005 /128, XBE: HAEELEEZITD 0. 500 Km +0. 100
INEE 0. 500 Km +0.100] (0. 500 x 0. 100) .~ 0.500=0. 100
AaFt 1. 380 (1. 0+0. 280+0. 100) =1. 380
ERMER  : AERT/BERUNE/RBRE/BERE
BEERXE: 1knEY %2 : 0. 500Km




#H1ERAREK

S BRGNS B = BOff WER ® &
RIRAIE HIckHEE
iR F b, Hofis Tt 0. 200 Km +0. 400
s Tt MRS ERTARE 0. 300 Km +0. 200
IVt 0.500]  Km +0. 280/ (0. 200 x 0. 400+0. 300 x 0. 200) .~ 0. 500=0. 280
&t 1.280| (1. 0+0. 280) =1. 280
ERRER  : MERB/BEUNE/PDLRAE
EEEXE  1kmBY 0V A FHRZBIVZEEDT YE%E : 0. 500Km
RIRAIE HBICkHEE
Hiftz T th, Rt i 0.200(  Km +0. 400
Rz Hb, HuR ERTIAERR 0. 300 Km +0. 200
INET 0.500]  Km +0. 280/ (0. 200 x 0. 400+0. 300 x 0. 200) .~ 0. 500=0. 280
BIZHE XEELLE
RZEE:1,000~3, 0005 /12850, RBE: HLEEZEEZS T 0.500]  Km +0. 100
INET 0.500]  Km +0. 100/ (0. 500 % 0. 100) .~ 0. 500=0. 100
BIGHIE BRBELE
BphiRE R (1Km2s ) 15 0.500(  Km +0. 100
IV 0.500]  Km +0. 100/ (0. 500 % 0. 100) .~ 0. 500=0. 100
FIDMRAIE BRREREEE
A s PR - 20m 0.500]  Km +0. 000
IV 0.500]  Km +0. 000/ (0. 500 x 0. 000) .~ 0. 500=0. 000
&5t 1.480| (1. 0+0. 280+0. 100+0. 100+0. 000) =1. 480
fERIER AIERB/REUE/RBIRENE




#H1ERAREK

SHREREH % E B FHIER & &
BEEEXE : 1knEY YE%E : 0. 500Km
BERAE MR HELE
itz th, R TR 0. 200 Km +0. 400
Mtz th, MRS ERTHIARR 0. 300 Km +0. 200
INET 0. 500 Km +0. 280/ (0. 200 x 0. 400+0. 300 % 0. 200) .~ 0. 500=0. 280
HRAE RBEXER
ZEE:1,000~3,00056/128:fH, X BE: HORBREZEEZS TS 0. 500 Km +0. 100
INET 0. 500 Km +0. 100/ (0. 500 x 0. 100) .~ 0. 500=0. 100
|t 1.380( (1. 0+0. 280+0. 100) =1. 380
fERIER - AIERB/BEUNE/HmAE
REEXE  kmaY) FE E%2 : 0. 500Km
BERAE HECXHEER
itz th, MRS R 0. 200 Km +0. 400
itz i, Hfg &R ATAERR 0. 300 Km +0. 200
INET 0. 500 Km +0. 280/ (0. 200 x 0. 400+0. 300 x 0. 200) .~ 0. 500=0. 280
BERAE RBELRIEER
ZEE:1,000~3,0005/1280E, KBE: HOBREZEEZS TS 0. 500 Km +0. 100
INET 0. 500 Km +0. 100 (0. 500 x 0. 100) .~ 0. 500=0. 100
A/t 1.380( (1. 0+0. 280+0. 100) =1. 380
fEXfER - MEXEH/BEANE/RAE
REMEEE - TkmE Y, 1860m, #E1/100, 41/100, y0y4+ BiER1 w FRE L YE%E : 0. 500Km
BERAE HECk SRR
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EHRMBEIREH % E B o FAIESR i® &

itz Hh, HRZ TR 0. 200 Km +0. 400

s T, MRS ERTHIARE 0. 300 Km +0. 200
INEE 0. 500 Km +0. 280( (0. 200 x 0. 400+0. 300 x 0. 200) .~ 0. 500=0. 280
BHRAE XBELELE

Z@EE:1,000~3,0005/1285H, X BE: HAIREREZEZI TS 0. 500 Km +0. 100
INEE 0. 500 Km +0. 100/ (0. 500 x 0. 100) .~ 0. 500=0. 100
HBIAE HRHEEER

E iR A AR (1Kkm& V) -5 0.500  Km +0. 100
INEE 0. 500 Km +0.100( (0. 500 x 0. 100) .~ 0. 500=0. 100
EAE RS - AIEEEEER

B = iR - 20m, 38 = R - 95m ~ 105m 0. 200 Km +0. 200

B R 6 - 20m, B R REFE  105m~115m 0. 300 Km +0. 300
INET 0. 500 Km +0. 260( (0. 200 x 0. 200+0. 300 x 0. 300) .~ 0. 500=0. 260

At 1. 740| (1. 0+0. 280+0. 100+0. 100+0. 260) =1. 740




